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1. Answer the following very briefly : 1x8=8

(@) When was the first psychological

laboratory formed?

ucational policy introduced the
nuous and compre-

(b) Which ed
n Indian education?

concept Of conti
| hensive education i

(c) Name one characteristic of a good tool.
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(2) o
Or
(d) Mention one tool commonly used in : ¢ by the term reliabih’fl};?
educational institution. What is mean tors that influence the i
() Mention the year in which the / DSy :asct e
! iability of a test.
Binet-Simon scale was last revised. -~ reliability AL
ds o
() Write the full form of TAT. 5. What are the methic'n detail Rorschach i
. ? Discuss 4+6=
(9) Mention one merit of median. assessmen‘:-
; inkblot test.
(h) Mention one use of graphical repre- i Or
sentation of datg. A0 test? State the 1905f
What is an int'el_hgen Binet-Simon test o 5
; ) ns of 3+7=10
2. Write short notes on the following : 4%5= and 1908 revisio
(@) Continuous and comprehensive intelligence. ute stan-
evaluation it deviation. Qomg e
b ! j 6. Define stan from the following dis Sl
(b)  Questionnaire as a tool of evaluation dard deviation T
(c) Differentia] Aptitude Tegt table : ; Frequency
(@ Types of dat Cla=sisis !
; 90-94 3
(e)  Propertieg of normg] Probability curve 85-89 .
80-84
3. 7
Define evaluation Piscuss¥its hature and 75-79 3
Scope 6’10
4+ 70-74 10
Or 65-69 6
Distinguigh b 60-64 4
evaluatiop €tween Measurement asl’ld5f10. 55-59 o .
5=
| 50-54 2
4. What is 5 ¢ : dasd 1
steps mVOIVe:niiardlzed test?: Discuss the 40-44 e
dardizeq achje fonstructigy, of a stan- 10 N=
vement test Sl i over )
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( 4)

Or

What is quartile deviation? Calculate quartile

deviation from the
distribution table :

Class Interval

Write briefly on rank-

Fréquency
60-64 2
55-59 3
50-54 S
45-49 10
4044 7
35-39 3
N = 30

following frequency

3+8=111

difference method of

correlation. Determine ‘the coefficient of

correlation by using rank-
. from the two sets of sc
Interpret the resyt 3
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difference method
ores given below.

2+8+1=11
—
Students Marks in Marks in
English History

A 78 84

B 36 54

@ 98 36

D 25 60

E 75 36

F 10 S4

G 25 92

H 62 36

I 36 62
_ J 44 68
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